Genius Legrest (Mechanical)

Right side shown



Genius Legrest (Mechanical)

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
1 1023966 Screw, Socket Head (#10-32 x 1-3/4") 1 1
2 0060000-NLA | NLA - Bumper, Rubber 1 1
3 0140406-NLA | NLA - Screw, Socket Head, Cap (5/16-18 x 1-1/2") 1 1
4 0061400-NLA | NLA - Decal, Warning Label Tie Down 1 1
5 0289824-NLA | NLA - Legrest Hanger Receptical w/ Dowel Pin 1 1
Assembly, Black
6 1096649-NLA | NLA - Guide, Square w/ Brass Barb Insert 1 1
7 0176700-NLA | NLA - Bushing, Coved Latch Legrest Genius 1 1
8 0050100-NLA | NLA - Washer, Nylon Flat (1/4 x 1/2 x 1/16") 1 10
9 0051606-NLA | NLA - Screw, Cap, Button Head, Socket (1/4-20 x 1 2
17
10 0052906-NLA | NLA - Screw, Socket Button Head (1/4-20 x 3/4") 1 3
11 0177802-NLA | NLA - Link, Black - Rear 1 1
12 1086987-NLA | NLA - Plate, Push Pin 1 1
13 0179202-NLA | NLA - Plate, Link 1 1
14 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 4
15 7930333 Locknut (1/4-20) 25 1
16 0223506-NLA | NLA - Screw, Socket, Cap, Button Head (1/4-20 x 1 1
1/2")
17 0180506-NLA | NLA - Screw, Slotted, Pan Head (5/16-18 x 1 1
1-15/16")
18 0054700-NLA | NLA - Washer, Nylon (5/16 x 1/2 x 1/16") 1 2
19 0177702-NLA | NLA - Link, Black - Front 1 1
20 0182406-NLA | NLA - Pin, Push 1 1
21 1028486 Locknut, Low Profile (3/8-16) 1 1
22 0175600 Spacer, Coved (5/16 x 3/4 x 3/8") 1 2
23 0055206-NLA | NLA - Screw, Cap, Button Head, Socket (5/16-18 x 1 1
1-3/4")
24 1072692-NLA | NLA - Lockwasher, Split (5/16") 1 1
25 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 1
26 0176422-NLA | NLA - Spacer, Coved (5/16 x 3/4 x 3/8") 1 2
28 0176200-NLA | NLA - Bushing, Nylon Guide 1 2
29 0177100-NLA | NLA - Bushing, Legrest Support 1 1
30 0178224-NLA | NLA - Bar, Insert, Black 1 1
31 0175800-NLA | NLA - Bushing, Guide 1 1
32 0224600-NLA | NLA - Screw, Socket Head, Cap (#10-32 x 3/4") 1 1
39 AE 1109613 NLA - Kit, Calf Pad Mounting, Retro-Fit 1 1
27 NLA - Locknut, Low Profile (5/16-18) 1 1
33 NLA - Screw, Hex Head (5/16-18 x 3-1/2) 1 1
34 NLA - Clamp, Calf Pad 1 1
35 NLA - Block, Legrest Pad Mount 1 1
36 Screw, Phillips Pan Head (#10-32 x 11/16") 1 2
36 Screw, Phillips Pan Head (#10-32 x 1") 1 2
37 Plate, Legrest Pad 1 1
38 NLA - Block, Mounting 1 1
Instruction Sheet, Legrest Pad Mtg. 1 1
40 8881193555 | Calf Pad Assembly, Black Base (Pair) 2 1
41 0238124-NLA | NLA - Tube, Legrest (18") 1 1




Genius Legrest (Mechanical)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
41 0232424-NLA | NLA - Tube, Legrest (20") 1 1
42 0177022-NLA | NLA - Clamp, Tube Half 1 2
43 0177602-NLA | NLA - Plate, Adjustment 1 2
44 1024793-NLA | NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 3
45 1096664-NLA | NLA - Plug Button, Black (1") 1 1
46 0177222-NLA | NLA - Pivot, Footplate 1 1
a7 1027097 Plug Button, Black (3/4") 1 1
48 0194906-NLA | NLA - Screw, Phillips Pan Head Tap (#8-32 x 1/2") 1 1
49 B 0176022-NLA | NLA - Spacer 1 2
49 C 0186000-NLA | NLA - Spacer, Wheel 1 2
50 B 0179824-NLA | NLA - Tube, Footplate, Black 1 1
50 C 0288824-NLA | NLA - Tube, Footplate, Black 1 1
51 B 1036120-NLA | NLA - Spring 1 2
51 C,F 1036123 Spring, Leaf 1 2
52 B 1043659-NLA | NLA - Footplate, Aluminum, Deluxe, Black - Right 1 1
(8" W x 5-3/4"L)
52 B 1043660-NLA | NLA - Footplate, Aluminum, Deluxe, Black - Left (8" 1 1
W x 5-3/4" L)
52 44200X025 Footplate, Aluminum, Extra Large, Black - Right (8" 1 1
W x 8-1/2" L)
52 44200X026 Footplate, Aluminum, Extra Large, Black - Left (8" W 1 1
x 8-1/2" L)
D See Chart Genuis Legrest Assembly 1 1
NOTE: A -Includes Items 27 and 33-38 (Per Side)
B - Standard Footplate with Rubber Edge
C - Extra Large Footplate
D - Not Shown
E - Includes an Instruction Sheet.
F - Use one or more leaf springs per assembly as required such that footplate may be moved by hand to the up-right position
and remain in place.
Right, Left and Pair Assembly Part Numbers For Genius Legrest
Description Standard X-Large Footplate Standard Footplate X-Large Footplate
Footplate
Legrest Tube Length 18" 18" 20" 20"
Width Range 16"-22" Wide 16"-22" Wide 16"-22" Wide 16"-22" Wide
Right Assembly 0196600-NLA 1072595-NLA 0264000-NLA 1072597-NLA
Left Assembly 0196500-NLA 1072594-NLA 0263900-NLA 1072596-NLA
Legrest Pair 0138100-NLA 1072904-NLA 0263800-NLA 1072905-NLA




